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1 01 2skkkk3k%19 Hkx ASE 5P TR B 7110.0 2650 2600 2500. 0 D2 R PR
2 1 0sksstokotsk 50 ook 2 5 TR 2B 5440. 0 1200 4240 3500. 0 IEN — fi PRI
3 01 2%skkkk32 TRk ISP TR SR 8000. 0 6600 2900 2000. 0 G R PR
4 1 0ksksstokotok 62 sk 28 5 TRE 2B 6620. 0 1200 4100 3420. 0 G R PR
5 01 2skkkkkkk 22 Tk 218 5P LA AR 8450. 0 2650 4320 3000. 0 G Rk IR M
6 10tk 6.4 Bk 28 5 TR 2R 5420. 0 900 4220 5420. 0 EJ R PR
7 10k 1 3 Toxx AT 5 Y TR A B 5700. 0 1200 4500 3000. 0 H REIR IR X
8 012%sksk54%36 sk 1 ISR RSB 4540. 0 1300 3240 2000. 0 G REIR R X
9 1 0skstsksoskesk 23 % FSESLY/ MmN 2040. 0 2040 8730 4365. 0 G REAR I X
10 10kttt 1 7 LCL VN 2 5 TR 2B 5340. 0 1200 4140 1500. 0 G R PR
11 10kttt 73 Pt A2 S5 i TR A B 5420. 0 1200 4220 5420. 0 BN RER IR X
12 1 0ssksstokotok 65 Tk ISP TR 5850. 0 2150 2700 2500. 0 EJ R PR e
13 0%k 35 ettt ) [B8@ 5P TR B 8250. 0 3530 4720 4125. 0 G R PR
14 1 0ssksstoktok8 6 JE ISP TSP 5000. 0 80 4920 3000. 0 IEN R PR




